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o FUI AT F T [ 57 FeT-U7 4 AT 7 16 T F97 40 &)
Please make sure that the printed pages in this question paper are 16 in number
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Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de Tel A o SEvIRagar & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
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o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U g7 % FUT 37 @ g7 9€ Ghaa FT d B FeT-0 {7 7 @@ & Yher 3 U 54
TG § g 4 qar w&hHe T8 B aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :

(i) All questions are compulsory.
(i) Marks of all questions are shown against them.

(ii)) Question paper comprises four sections A, B, C & D. There are 40 questions
in the question paper.

(iv) Section — A consists of Question Nos. 1 to 20 are objective type questions.
Each question is of 1 mark.

(v) Section - B consists of Question Nos. 21 to 28 are very short answer type
questions with internal choice. Each question is of 2 marks. The answer of
these questions should be in one or two sentences or in few words.

(vi)) Section - C consists of Question Nos. 29 to 36 are short answer type
questions with internal choice. Each question is of 3 marks. The answer to
each question should be in about 80 to 100 words.

(vii) Section — D consists of Question Nos. 37 to 40 are essay type questions. All
questions are given with internal choice. Each question is of 5 marks. The
answer to each question should be in about 150 to 180 words.

qug -3
SECTION - A

[ TS 9 ]

[ Objective Type Questions ]

1. ‘“Mrgay § RR-yofRe 9 AW @ ST S arer 9o e i ? 1
(A) ORR A@ AEE (B) UGER I&H B T
(C) e e (D) GAN == 99
Who gave the speech known as '"Tryst With Destiny' ?
(A) Jawaharlal Nehru (B) Sardar Vallabh Bhai Patel
(C) Mahatma Gandhi (D) Subhash Chandra Bose

2. WHHA & TEd AH A F 16 FiE Sfiawt TH W W HH-4 ae W@ ? 1
Which party stood second by winning 16 seats in the first general election of Lok
Sabha ?
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3. IR IR & 7 § ¥ B9-91 999 98 F&@ e ? 1

(A) T& AT & ARE AT H Th 1B o
(B) TEH TEAFT W U & @i & s b = am
(C) T T FB WU JaNUil T Bl
(D) Z&H FRISH & RRR &1 gk awel= fRear n am

Which one of the following statements about the 'Bombay Plan' is not correct ?
(A) It was a blue-print for India's economic future.

(B) It supported state ownership of industries.

(C) It was created by some leading industrialists.

(D) The idea of planning was strongly supported in it.

4. FEITRET ®HOA 4 8§87 I /HIA Fl faehed AT 1
1. 1974 F TR SR R si@e ga
2. HY shife] BT HATEAN STEGHIA TREOT < {6l
3. AN H HWOT 1972 F H T
4. TOS BIRN H AR 1971 F W W 7 fmm

@ -
(A) Faw 18R 2 (B) ¥ad 2 &K 4
(C) ®ad 1, 3 3R 4 (D) a9 1,2 3X 4

2216/(Set : A)
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Choose the correct statement(s) from the following statements :
1. Gujarat and Bihar Movement took place in 1974.
2. Jayaprakash Narayan called for a total revolution.
3. Emergency was declared in 1972.

4. The slogan of Garibi Hatao was given by Indira Gandhi in 1971.

Options :
(A) 1 and 2 only (B) 2 and 4 only
(C) 1,3 and 4 only (D) 1, 2 and 4 only

5. 1956 ¥ 3@ Ugauid Ae fhEe g § SRRl iR ARl # Al &R dAR &

T 7 ]
(A) THo UHo WMIMEN (B) dio Hio WRlEHISH
(C) o o FARWI (D) R o e

In 1956 the Second Five Year Plan was prepared by a team of economist and
planners under whose leadership ?

(A) M. S. Swaminathan (B) P. C. Mahalanobis
(C) J.C. Kumarappa (D) Jawaharlal Nehru
6. 19717 gU THHA Al & I ARG B FAFHA Db a4 7 1
(A) AN 4R (B) TEAWT
(C) SR i (D) =R e
Who became the Prime Minister of India after the Lok Sabha election held in
19717
(A) Morar Ji Desai (B) Chandrashekhar
(C) Indira Gandhi (D) Charan Singh

2216/(Set : A) P.T.O.
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7. 8 dames deltee & ‘@Y G et T B 7 1
(A) 38af dae (B) 40af daMes
(C) 42df dame (D) 44af daMes

Which Constitutional Amendment has been called the 'Mini Constitution' ?

(A) 38th Amendment (B) 40th Amendment
(C) 42nd Amendment (D) 44th Amendment
8. W] 3R FFIX TTed AAEH, 2019 ERT TR 370 FF TG AT T ? 1
(A) S8, 2019 (B) 15 37Ed, 2019
(C) 18 37&d, 2019 (D) 25 &17Ed, 2019

When was Article 370 abolished by the Jammu and Kashmir Reorganization Act,

20197
(A) 5 August, 2019 (B) 15 August, 2019
(C) 18 August, 2019 (D) 25 August, 2019

9. ST M & g H T 1984 & oNhawl AHIAE H HIE Uil 7 el epqs @ie

ST ? ’
(A) 409 (B) 411
(C) 415 (D) 418

2216/(Set : A)
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How many Lok Sabha seats did the Congress Party win in the 1984 General Lok
Sabha election fought under the leadership of Rajiv Gandhi ?

(A) 409 (B) 411
(C) 415 (D) 418

10. fored dmed @ S8 dicig dfiel &)1 A3, 19917 ...l T B B T 1
Srilankan Tamils belonging to the LTTE Organization killed ............. in May
1991.

11. 1991 # % & & i g 39 &R HuE T8 ? 1
A) I (B) S9N
(C) afarer ifkar (D) A

Which country adopted the Look East Policy in 1991 ?

(A) China (B) Japan
(C) South Korea (D) India
12. TS H A, qibes qHeisl AR Aiefanedl & e Bepriy du 6w 2o 7 gon ? 1
(A) i (B) AU
(C) ™ (D) TR

In which country did the triangular conflict take place between the king's army,
democracy supporters and Maoists ?

(A) SriLanka (B) Nepal
(C) Bhutan (D) Bangladesh

2216/(Set : A) P.T.O.
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13. @M% & JEAed %ol X Red 5 7 1
(4) T2 fewel (B) FHrg,
(C) &R (D)
Where is the headquarters of SAARC located ?
(A) New Delhi (B) Kathmandu
(C) Karachi (D) Colombo
14. F<H | &G T ggf fasbew & @y @il @ R 1
T T D FaE ..o fommeemT W emenia o GEISEEVA TS
Fill in the blanks using the correct option given in the bracket :
Soviet political system was based on ............... ideology. (Socialism/Capitalism)

15. 9RAE 99 Y SAddare! eqdT &e fhar &1 ?

When was the terrorist attack carried out on the Indian Parliament ?

16. F09 36 U9 = Tfieq ¢ o ot 4 J&s 9 GHRE &t ?
(A) 1962 ¥ (B) 1971 ¥
(C) 1972 H (D) 1982 #
When did the Club of Rome publish a book titled 'Limits to Growth' ?
(A) In 1962 (B) In 1971
(C) In 1972 (D) In 1982

2216/(Set : A)



17.

18.

19.

20.

21.

2216/(Set : A)
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HYFHT TS HY Dl AT e Il & &9 H g3 7

(A) T Sff® SS9 (B) T4 &

(C) Wfead € (D) H § HI3 T
The United Nations was established as the successer of :
(A) League of Nations (B) European Union
(C) Soviet Union (D) None of these
Y T §Y & a9 HerdEd w1 AW i)

Write the name of current Secretary General of the United Nations.

Fret & & $I9-91/8 &1 B IR 4RT & o &/8 7

1

(A) STURY (B) SrfeRT EeT
(C) TeEgT AT (D) S i
Which of the following is/are the elements of the traditional concept of security ?
(A) Opposition (B) Balance of power
(C) Forming alliance (D) All of the above
S ST HIST oo a0 R e
The Shock Therapy model was guided by ............... .
gus -g
SECTION - B
[ AfrRTg SRS T ]

[ Very Short Answer Type Questions ]

A1 SRR H ST H9 G ? YH A HGH Dl & ?

2

When was the Election Commission formed ? Who became the first Election

Commissioner ?

P.T.0O.



22.

23.

24.

25.

26.

(10) 2216/(Set

qRd X 99 & 99 el §7 foart & e i

Explain any two disputes between India and China.

ISl R & dig & fog SRyl

Mention any two points of the Punjab Agreement.

I B G FX B AT B W B
Explain China's 'Open Door Policy'.

YqT
OR

AN d9 H @O F9 AR g aFg ar g ?
When and by which treaty was the European Union Established ?

B () § TR F AR © 7
What do you mean by SAARC ?

YqT
OR

ARA AR TEARY & A AAHE & By & 5o Ayl

Write any two issues of differences between India and Bangladesh.

TRRT SR ST & TG @A 9 B A geE B & g getear @ of ?

: A)

2

What were the two main security challenges facing the newly independent

countries of Asia and Africa ?

2216/(Set : A)



27.

28.

29.

(11) 2216/(Set : A)

gl g oY dfera feoef fafem 2
Write a short note on Earth Summit.
fufra erefeeren @ o9 1 TwE@ ¥ ? 2
What do you understand by mixed economy ?

YT

OR

YH Ueedid A F9 g8 H 1, 399 e SN W g9d e Si)oor ?

When was the first Five Year Plan started and what was given the most
emphasis in it ?

YqT
OR

T STEIRT F97 -

Competency Based Question :

a0 dEEdg A & AR SR famm W F e @ e o 39 foae
-1 T RU TS ? g & T [

During the second Five Year Plan there was a controversy between Industrial
development and Agricultural development. What arguments were given in this
controversy ? Write any two arguments.

gug -
SECTION - C
[ TS 49 ]
[ Short Answer Type Questions ]

1960 & a9 & HIF Ul & Gl H Tfehe w1 g W FHA gL 3T BT H AU
T 3

Explain the meaning of 'Syndicate' and describe its role in the context of the
Congress Party of the 1960's.
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30.

31.

32.

33.

34.

(12) 2216/(Set : A)
1975 ¥ U i QNI Hd gL GChR o 38 41 HRI qaC & 7 3

What reasons did the government give while declaring Emergency in 1975 ?

3TeE
OR

1977 % Al % §1& el OR &= 4 fGuell & Bl GRHR a9 & HI3 @7 RO [y

Write any three reasons for the formation of the opposition party government at
the Centre for the first time after the 1977 elections.

BTG I GG HA & (el a7 GAEl B aviE i) 3

Describe any three suggestions to end Regionalism.

YqT
OR

g & 1 Gt i & whe S

Review the North-East region in limited words.

AT OIS Tl H Tosee RN & 36T & [heal 7 BN &l gui It 3

Describe any three reasons for the emergence of coalition government in Indian
political system.

f&-gdig e & qHiG % Y SOErl &R 3
Write the factors responsible for the end of bipolar system.
SR At M B ? SR & & 3899 ART 3

What is the ASEAN system ? State two objectives of ASEAN.

2216/(Set : A)
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35. fqeq % AEh o @ o9 91 gea ¥ ? HE ded &9 oar § 7 3

What do you understand by the world's common heritage ? How is it exploited ?

YqT

OR

TGO G & fheel 7 SUEl Bl TS HifTT)

Explain any three measures for environmental protection.

36. BT H WIEHID T H AT BT 3

Explain the cultural aspect of globalization.

qus —-§
SECTION - D
[ e 59 ]
[ Essay Type Questions ]

37. WA WRA & WEA A G Al B aUH Bl 5

Describe the main challenges faced by Independent India.

YqT
OR

FEl A o b g TH AGE FY A FHeqd GEE BT § SR gaHrd fsarq ey,
T HATHET AR Aol 8 Th G # §67 Bl o1 S [RIvarel il 9 Hie
HER T 9RA T T 3
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38.

39.

(14) 2216/(Set : A)

It is said that a nation is a broadly conceived community bound together by a
common belief, history, political aspirations and imagination. Identify the

characteristics on the basis of which India is a nation.

e-FRUY H1 A IA1d U 36! [ARINCIS & Ui i 5

Explain the meaning of non-alignment and describe its characteristics.

7T

OR
frrferia v wfere fewei ifs
(i) ARG B A A 2%
(i) Y & R 2%

Write brief comment on the following :
(i) India's Nuclear Policy

(ii) Principles of Panchsheel

IRA & ARG d @9 F GO URWg § R H W GO & 0 & gEd o a4
A ? AW A H AT s # 5

As a citizen of India, how would you support India's case for permanent

membership in the Security Council ? Justify your proposal.

2216/(Set : A)
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AYqr
OR
g T B R @ R @ o At
Describe the objectives and principles of the United Nations.

AYqT
OR

T STEIRT F97 -

Competency Based Question :

fr=feiea foet &1 TEe T8 deft o e o7 ae fafeg

Look at the following picture and write five sentences related to it according to

your thinking :

W T a0 G-I F FRE (1 S, 2018 %)

Use of 'Veto-Power' by permanent members (Till 1 June, 2018)

2216/(Set : A) P.T.O.
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40. IAH F FHHAS AR THRIED T&l B Sead BT

Mention the positive and negative aspects of globalization.

3TeE
OR

AT PN TRAM P 8T 6% 35 & & HROI W T ST

Define globalization and highlight the main reasons for its rise.

2216/(Set : A)
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o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U g7 % FUT 37 @ g7 9€ Ghaa FT d B FeT-0 {7 7 @@ & Yher 3 U 54
TG § g 4 qar w&hHe T8 B aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @4 g7 Sard &
(i) @ g F ofF FTH @ET T T &

(iii) FoT7H B WX GOE] - F G T GG § T [Fr7 B T &1 i 3 40 797 8

(iv) &€ -%F 7 g97 G697 1 & 20 % G J97 &1 J9% 797 1 31% % &1

V) G% - 7757 GE 21 G 28 T SARE [HT & T ST FTTHF FoT [T TT &
9% F7 2. i I 81 JA% 97 F I & 1 & aEl 7 oy 38 I A wne

(vi) T - T 7 g97 G& 29 @ 36 % SARF [AHY B G TLANHE F97 [T TT &1

J% J97 3 SJE FT &1 JE% 97T F FAT FTHT 80 § 100 =] F G TR
(vii) GUE - § T J97 G 37 T 40 TF HIiEs J97 & T 797 ofiak® [Eey & @ Ry
TT &) JF FIT 5 Gl H &1 F9% 97 F FaT FIHT 150 @ 180 I § & FET
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General Instructions :

(i) All questions are compulsory.
(i) Marks of all questions are shown against them.

(ii)) Question paper comprises four sections A, B, C & D. There are 40 questions
in the question paper.

(iv) Section — A consists of Question Nos. 1 to 20 are objective type questions.
Each question is of 1 mark.

(v) Section - B consists of Question Nos. 21 to 28 are very short answer type
questions with internal choice. Each question is of 2 marks. The answer of
these questions should be in one or two sentences or in few words.

(vi)) Section - C consists of Question Nos. 29 to 36 are short answer type
questions with internal choice. Each question is of 3 marks. The answer to
each question should be in about 80 to 100 words.

(vii) Section — D consists of Question Nos. 37 to 40 are essay type questions. All
questions are given with internal choice. Each question is of 5 marks. The
answer to each question should be in about 150 to 180 words.

qug -3
SECTION - A

[ TS 9 ]

[ Objective Type Questions ]

1. GgFd T §9 % Qo e ST & w9 H g3 ¢ 1
(A) T ST AL (B) FUF &
(C) wfeaa g (D) & @ &g T
The United Nations was established as the successer of :
(A) League of Nations (B) European Union
(C) Soviet Union (D) None of these
2. HgH UK G9 % q0H Hewred & T AR 1

Write the name of current Secretary General of the United Nations.

2216/(Set : B) P.T.O.
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3. F=1 & & F9-91/8 &N B IR a1 & o< &/ 7 1
(A) STURIY (B) SrfeRT EeT
(C) TeSEgd T (D) S a4t
Which of the following is/are the elements of the traditional concept of security ?
(A) Opposition (B) Balance of power
(C) Forming alliance (D) All of the above

4. s G HISA oonnnnnn ERURE NI 1
The Shock Therapy model was guided by ............... .

5. ‘qrgdyg ¥ RR-UAIRE 9’ TM § S S e qo e &1y ? 1
(A) ORR A@ AEE (B) UGER I&H B T
(C) e et (D) GAN == 99
Who gave the speech known as 'Tryst With Destiny' ?
(A) Jawaharlal Nehru (B) Sardar Vallabh Bhai Patel
(C) Mahatma Gandhi (D) Subhash Chandra Bose

6. WHAM & Ted FH A 7 16 HId sy TR &I T H-a Tl @ 7 1
Which party stood second by winning 16 seats in the first general election of Lok
Sabha ?

7. N AR & AR = d @ -8 999 |E 787 e ¢ 1

(A) T& AT & ARE AT H Th g-He o
(B) IHH IR X U9 & W@IHd & GHI [par T &
(C) EEH = FB IO IRl T i
(D) & FRISH & BRI &1 gk awel= fRear n am

2216/(Set : B)
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Which one of the following statements about the 'Bombay Plan' is not correct ?
(A) It was a blue-print for India's economic future.

(B) It supported state ownership of industries.

(C) It was created by some leading industrialists.

(D) The idea of planning was strongly supported in it.

8. [r=iciad wel § 4 @&l I /HIA 1 faohed e 1
1. 1974 F ToRE SR R si@e ga
2. FYOY shife] BT HATEAN STEGHIA TREOT < fohM|
3. ANCEH H HWOT 1972 F H T
4. TOS BIRN H AR 1971 F W W 7 f=m

@ -
(A) Faw 1R 2 (B) ¥ad 2 &R 4
(C) ®ad 1, 3 R 4 (D) a9 1,2 3lX 4

Choose the correct statement(s) from the following statements :
1. Gujarat and Bihar Movement took place in 1974.

2. Jayaprakash Narayan called for a total revolution.

3. Emergency was declared in 1972.

4. The slogan of Garibi Hatao was given by Indira Gandhi in 1971.

Options :
(A) 1 and 2 only (B) 2 and 4 only
(C) 1,3 and 4 only (D) 1,2 and 4 only

2216/(Set : B) P.T.O.
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9. 1956 # @Y U=avg AT fhes Aga § orfaRadl o ARl @ Al SR AR &

T 7 ’
(A) THo THo MM (B) dio o HEE™ISd
(C) o Hio FARWI (D) SfEmeY e 8@

In 1956 the Second Five Year Plan was prepared by a team of economist and

planners under whose leadership ?

(A) M. S. Swaminathan (B) P. C. Mahalanobis
(C) J.C. Kumarappa (D) Jawaharlal Nehru
10. 1971 ¥ §T JABE™l A6l & 1% 9RA & JgFEA B a9 7 1
(A) HIT T (B) =G
(C) g et (D) = fiE

Who became the Prime Minister of India after the Lok Sabha election held in

1971 ?
(A) Morar Ji Desai (B) Chandrashekhar
(C) Indira Gandhi (D) Charan Singh
11. % ddere d@aed ® ‘@Y dfage w1 ™ e ? 1
(A) 384T GaNee (B) 40dT Ganes
(C) 42daf dameT (D) 44dl G

Which Constitutional Amendment has been called the 'Mini Constitution' ?
(A) 38th Amendment (B) 40th Amendment

(C) 42nd Amendment (D) 44th Amendment

2216/(Set : B)
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12. 99 3R HHR Jvied SffEd, 2019 a1 T®T 370 H9 G4 f6ar T ? 1
(A) 59T, 2019 (B) 15 37Ed, 2019
(C) 18 &, 2019 (D) 25 J7E, 2019
When was Article 370 abolished by the Jammu and Kashmir Reorganization Act,
20197
(A) 5 August, 2019 (B) 15 August, 2019
(C) 18 August, 2019 (D) 25 August, 2019

13. G MR & Aqa § @8 1984 & A AFGAE F HAG U A fha b @i

Sfidt ? ’
(A) 409 (B) 411
(C) 415 (D) 418

How many Lok Sabha seats did the Congress Party win in the 1984 General Lok

Sabha election fought under the leadership of Rajiv Gandhi ?

(A) 409 B) 411
(C) 415 (D) 418

14. e @69 @ S8 dideR dfal a) |3, 19918 ... A B B 1
Srilankan Tamils belonging to the LTTE Organization killed ............. in May
1991.

2216/(Set : B) P.T.O.
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15. 1991 ¥ & & & ifd 68 a9 g0 SuE w ?
(&) = (B) STuM
(C) &R it (D) 9Rd
Which country adopted the Look East Policy in 1991 ?
(A) China (B) Japan

(C) South Korea (D) India

16. ST H O, Qb qHeisl X FAeianedl & de Bepriy a6 2o 7 ger ?
(A)  HiciHt (B) AU
(C) M (D) SR

B)

In which country did the triangular conflict take place between the king's army,

democracy supporters and Maoists ?
(A) SriLanka (B) Nepal
(C) Bhutan (D) Bangladesh

17. 9% & JEAed %ol X Red 5 7

(A) T2 fecel (B) e

(©) H= (D) HRT
Where is the headquarters of SAARC located ?

(A) New Delhi (B) Kathmandu
(C) Karachi (D) Colombo

2216/(Set : B)
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18. @i | ¥ U @& foency & | Tl W K 1
A ToIes e .o feramemT oX emenia o GEISEICVAEIE )
Fill in the blanks using the correct option given in the bracket :
Soviet political system was based on ............... ideology. (Socialism/Capitalism)
19. R HEE X ATCHAR! B e fehdl T ? 1

When was the terrorist attack carried out on the Indian Parliament ?

20. 9 G 9 7 fofted ¢ M’ ofives | J&is H9 GHRE B 7 1
(A) 1962 ¥ (B) 1971 #
(C) 1972 H (D) 1982 ¥

When did the Club of Rome publish a book titled 'Limits to Growth' ?

(A) In 1962 (B) In 1971
(C) In 1972 (D) In 1982
s - g
SECTION - B

[ SAfeTg SRS I ]
[ Very Short Answer Type Questions ]

21. Gl g WX dfer feael fafg 2

Write a short note on Earth Summit.
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22.

23.

24.

25.

(10) 2216/(Set : B)
fufra orefeyeren @ o9 1 TEE@ ¥ ? 2

What do you understand by mixed economy ?
AYAT
OR
YH Ueedid A F9 g8 H 1, 399 e SN ) g9q ey S)oor ?

When was the first Five Year Plan started and what was given the most
emphasis in it ?

3TeE
OR

T STEIRT F97 -

Competency Based Question :

A0 doadiE A & SRW SfEiiE G s PN e @ e @ an 39 e
- T BT T Y ? Hg G T frau

During the second Five Year Plan there was a controversy between Industrial
development and Agricultural development. What arguments were given in this
controversy ? Write any two arguments.

IAIE SN & Mo H9 G ? TG9 IAE TIHR i a4 7 2

When was the Election Commission formed ? Who became the first Election
Commissioner ?

RA AR =9 & 77 [l @ farl & e Jif 2
Explain any two disputes between India and China.
IS TR & Bl & fovg aaEul 2

Mention any two points of the Punjab Agreement.
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26. TN H G ER & Hlf B WL Hi 2
Explain China's 'Open Door Policy'.

3TeE
OR

UG |9 WO F9 SR g atg & g v
When and by which treaty was the European Union Established ?

27. B9 () § STUEH FT A B 7 2
What do you mean by SAARC ?

YqT
OR

ARG SR TR & A AAHE B HE & 50 A

Write any two issues of differences between India and Bangladesh.

28. TRMAT IR e & 79 wW@oA 39T B A G B & JeA At @ o ? 2

What were the two main security challenges facing the newly independent
countries of Asia and Africa ?

Gug -7
SECTION - C

[ TS 55 |

[ Short Answer Type Questions ]

29. Uz aEd W it feuef fafaw 3

Write a short note on 'Grand Alliance.
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30. BT  WiEHaH T H AR BTl 3
Explain the cultural aspect of globalization.
81. 1975 ¥ AU I €SO HId L THR 5 6 F1 HROT SaC & ? 3

32.

33.

What reasons did the government give while declaring Emergency in 1975 ?

YqT
OR

1977 % Al % §1& el OR &= § fGuell & bl GRHR a9 & HI3 @7 RO [y

Write any three reasons for the formation of the opposition party government at

the Centre for the first time after the 1977 elections.

BEdTE G B & bl @7 GaAal B au i 3

Describe any three suggestions to end Regionalism.

STeE
OR

g & 1 Gt i § whe S

Review the North-East region in limited words.

ARG VST Fawe § Mo bR & 39 & (el 7 BN & o i) 3

Describe any three reasons for the emergence of coalition government in Indian
political system.
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34. f&-gdig e & qHG % Y SORerl & iy 3

Write the factors responsible for the end of bipolar system.

35. ST Aol 1 B ? SRS & 3 Seed SaiRu 3

What is the ASEAN system ? State two objectives of ASEAN.

36. fasq # AEN o @ o9 T THER B ? SHE T &9 oar § 7 3

What do you understand by the world's common heritage ? How is it exploited ?

YqT
OR

TGO G & fheal 7 SUEl B TS HifTU)

Explain any three measures for environmental protection.
qle -9
SECTION - D
[ e 59 ]
[ Essay Type Questions ]

37. IAH H FHAS AR THRIED T&l B Sead Do) 5

Mention the positive and negative aspects of globalization.
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YqT

OR

AFEHTT I AR Fd gY 36 984 & & FRON T FH STy

Define globalization and highlight the main reasons for its rise.

38. WA R & EA M &I FANAl B U Ao 5

Describe the main challenges faced by Independent India.

YqT

OR

Fel ST & 6 T TF Ak Hd A PHioqd TR Bl 8 R §EAM s 3fie,
T TR AR Aol 8 Th G # §47 Bl o1 S [RIvarel il 9 Hie
R T 9RA TF T 2

It is said that a nation is a broadly conceived community bound together by a
common belief, history, political aspirations and imagination. Identify the

characteristics on the basis of which India is a nation.

39. Y-FRUY & Y qAId U 6! ARV H AU Hifor 5

Explain the meaning of non-alignment and describe its characteristics.
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37T

OR
freferie v e feweil i
() ARG B WA A 2%
(i) d=sha & R 2%

Write brief comment on the following :
(i) India's Nuclear Policy

(ii) Principles of Panchsheel

40. IRT & TANRE & T ¥ YO URGG ¥ 9RG H WA &A@ F G FH GHET A9 BY
O ? AT T H A R B 5

As a citizen of India, how would you support India's case for permanent

membership in the Security Council ? Justify your proposal.
AYqT
OR

g T & el T3 FaEil B ao i)

Describe the objectives and principles of the United Nations.
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T SR F97 -

Competency Based Question :

frfeiad o 1 TEex T Haiftd o R g a fafeg
Look at the following picture and write five sentences related to it according to

your thinking :

W T a0 G-I F FRE (1 S, 2018 )

Use of 'Veto-Power' by permanent members (Till 1 June, 2018)

2216/(Set : B)



CLASS : 12th (Sr. Secondary) Code No. 2216
Series : SS/Annual Exam.-2025

Roll No. SET: C
POLITICAL SCIENCE
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
Time allowed : 3 hours | [ Maximum Marks : 80

o FUI AT F T [ 57 FeT-U7 4 AT 7 16 T F97 40 &)
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o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U g7 % FUT 37 @ g7 9€ Ghaa FT d B FeT-0 {7 7 @@ & Yher 3 U 54
TG § g 4 qar w&hHe T8 B aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @4 g7 Sard &
(i) @ g F ofF FTH @ET T T &

(iii) FoT7H B WX GOE] - F G T GG § T [Fr7 B T &1 i 3 40 797 8

(iv) &€ -%F 7 g97 G697 1 & 20 % G J97 &1 J9% 797 1 31% % &1

V) G% - 7757 GE 21 G 28 T SARE [HT & T ST FTTHF FoT [T TT &
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J% J97 3 SJE FT &1 JE% 97T F FAT FTHT 80 § 100 =] F G TR
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General Instructions :

(i) All questions are compulsory.
(i) Marks of all questions are shown against them.

(ii)) Question paper comprises four sections A, B, C & D. There are 40 questions
in the question paper.

(iv) Section — A consists of Question Nos. 1 to 20 are objective type questions.
Each question is of 1 mark.

(v) Section - B consists of Question Nos. 21 to 28 are very short answer type
questions with internal choice. Each question is of 2 marks. The answer of
these questions should be in one or two sentences or in few words.

(vi)) Section - C consists of Question Nos. 29 to 36 are short answer type
questions with internal choice. Each question is of 3 marks. The answer to
each question should be in about 80 to 100 words.

(vii) Section — D consists of Question Nos. 37 to 40 are essay type questions. All
questions are given with internal choice. Each question is of 5 marks. The
answer to each question should be in about 150 to 180 words.

qug -3
SECTION - A

[ TS 9 ]

[ Objective Type Questions ]

1. T &l &1, Ao gl IR Aeiaiedl & s Breaeia d@ad g 3a § gor ? 1
(A)  HiciHt (B) AU
(C) M (D) SR

In which country did the triangular conflict take place between the king's army,
democracy supporters and Maoists ?

(A) SriLanka (B) Nepal
(C) Bhutan (D) Bangladesh
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2. % H eI Fol W R¥d © ° 1
(4) T2 fewel (B) g
(C) &R (D) Frwn
Where is the headquarters of SAARC located ?
(A) New Delhi (B) Kathmandu
(C) Karachi (D) Colombo
3. #ies ¥ ¥ MU ggf fahey & €Y @l W W 1
Qifead TSHID FaET ... feremeamy @ arenia et GEISEICVAEIE )
Fill in the blanks using the correct option given in the bracket :
Soviet political system was based on ............... ideology. (Socialism/Capitalism)

4. YRAN 68 X AHdEl s9aT &9 fhar T ?

When was the terrorist attack carried out on the Indian Parliament ?

5. &9 3% 19 7 Toifigy T Mo < § G B YRR
(A) 1962 ¥ (B) 1971 ¥
(C) 1972 H (D) 1982 #
When did the Club of Rome publish a book titled 'Limits to Growth' ?
(A) In 1962 (B) In 1971
(C) In 1972 (D) In 1982
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6. TYH U 9 H WO FhEed ITHHR F w9 H g 7 1
(A) T Sff® SS9 (B) T4 &
(C) difegd &« (D) H § HI3 T
The United Nations was established as the successer of :
(A) League of Nations (B) European Union
(C) Soviet Union (D) None of these

7. GYHI U €Y F I qerred & A A 1
Write the name of current Secretary General of the United Nations.

8. M= & q PIF-71/8 &I B IRIRSF 4RN & T &/ ? 1
(A) STURY (B) SrfeRT EeT
(C) oS SE T (D) SWiF a4l
Which of the following is/are the elements of the traditional concept of security ?
(A) Opposition (B) Balance of power
(C) Forming alliance (D) All of the above

9. i R ASA ..o a0 R e 1

The Shock Therapy model was guided by ............... .

10. ‘qFFay ¥ -SRI 9’ 99 § S S drel AT fhee o ? 1
(A) TEREY AW 88 (B) UGER I 9B Ued
(C) e e (D) GAN == 99
Who gave the speech known as '"Tryst With Destiny' ?
(A) Jawaharlal Nehru (B) Sardar Vallabh Bhai Patel
(C) Mahatma Gandhi (D) Subhash Chandra Bose

11. THE & T A IE § 16 Hid Siiqeht gak &M W HiF-81 el & ? 1
Which party stood second by winning 16 seats in the first general election of Lok
Sabha ?
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12. TR @ ® R § 7 § @ d9-91 999 98 7@ e ? 1

(A) T& AT & ARE AT H Th 1B o
(B) TEH TEAFT W U & @i & s b = am
(C) ZEH = FB IO IRl T A Al
(D) Z&H FRISH & RRR &1 gk awel= fRear n am

Which one of the following statements about the 'Bombay Plan' is not correct ?
(A) It was a blue-print for India's economic future.

(B) It supported state ownership of industries.

(C) It was created by some leading industrialists.

(D) The idea of planning was strongly supported in it.

13. =i weml § @ &8 HIT/HI b faehed g 1
1. 1974 F TR SR R si@e ga
2. HY shife] BT HATEAN STEGHIA TREOT < {6l
3. AN H HWOT 1972 F H T
4. TOS BIRN H AR 1971 F W W 7 fmm

@ -
(A) Faw 18R 2 (B) ¥ad 2 &K 4
(C) ®ad 1, 3 3R 4 (D) a9 1,2 3X 4
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Choose the correct statement(s) from the following statements :
1. Gujarat and Bihar Movement took place in 1974.
2. Jayaprakash Narayan called for a total revolution.
3. Emergency was declared in 1972.

4. The slogan of Garibi Hatao was given by Indira Gandhi in 1971.

Options :
(A) 1 and 2 only (B) 2 and 4 only
(C) 1,3 and 4 only (D) 1, 2 and 4 only

14. 1956 H g@U doadiy Ao fhEd g § denieRl R AR @ el &R daR b

T 7 ]
(A) THo UHo WMIMEN (B) dio Hio WRlEHISH
(C) o o FARWI (D) R o e

In 1956 the Second Five Year Plan was prepared by a team of economist and
planners under whose leadership ?

(A) M. S. Swaminathan (B) P. C. Mahalanobis
(C) J.C. Kumarappa (D) Jawaharlal Nehru
15. 1971 7 §U SIha gAMEl & & ARG & YA b & ? 1
(A) AN 4R (B) TEAWT
(C) SR i (D) =R e
Who became the Prime Minister of India after the Lok Sabha election held in
1971 ?
(A) Morar Ji Desai (B) Chandrashekhar
(C) Indira Gandhi (D) Charan Singh
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16.

17.

18.

(8) 2216/(Set : C)

g daere delte ® ‘@Y dfaae wer ™ s ? 1
(A) 38ar alem (B) 40ar @Mew
(C) 42df dame (D) 44af daMes

Which Constitutional Amendment has been called the 'Mini Constitution' ?

(A) 38th Amendment (B) 40th Amendment

(C) 42nd Amendment (D) 44th Amendment

ST SR HeHR GivieA AW, 2019 a1 ST8E 370 H9 9 fhar T ? 1
(A) S8, 2019 (B) 15 37Ed, 2019

(C) 18 37&d, 2019 (D) 25 &17Ed, 2019

When was Article 370 abolished by the Jammu and Kashmir Reorganization Act,
2019 °?

(A) 5 August, 2019 (B) 15 August, 2019

(C) 18 August, 2019 (D) 25 August, 2019

[l M & g F @S 1984 & ABHH AMIAE H HAG U A e b did
S ? 1
(A) 409 (B) 411

(C) 415 (D) 418

How many Lok Sabha seats did the Congress Party win in the 1984 General Lok
Sabha election fought under the leadership of Rajiv Gandhi ?

(A) 409 (B) 411
(C) 415 (D) 418
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19. fiee @6 @ S8 Hider dffl e’ |3, 1991 F ... B B TR 1
Srilankan Tamils belonging to the LTTE Organization killed ............. in May
1991.

20. 1991 % g% I& & I [HH 39 & ATTE T ? 1
(A) =N (B) S
(C) aferer i (D) ¥Rd

Which country adopted the Look East Policy in 1991 ?

(A) China (B) Japan
(C) South Korea (D) India
gug -g
SECTION - B

[ SAfeTg SRS I ]
[ Very Short Answer Type Questions ]

21. T/ (W) & STUH R AW 7 7 2
What do you mean by SAARC ?

STeE
OR

ARG SR TR & A AAHE B Hs & 50 A

Write any two issues of differences between India and Bangladesh.
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22.

23.

24.

25.

(10) 2216/(Set : C)
RN iR SThiE & 9 W@ 290 B A G @ & yed A @ of 7 2

What were the two main security challenges facing the newly independent

countries of Asia and Africa ?

gl g X dfere feoef fafem 2
Write a short note on Earth Summit.
P oTeferaee § oMY &1 §9ed © 7 2
What do you understand by mixed economy ?

HAYAT

OR

TgH UeEdi AT e g8 H B, 36H R SN W ged el S)oor ?

When was the first Five Year Plan started and what was given the most
emphasis in it ?

YqT
OR

T STEIRT F97 -

Competency Based Question :

a0 dEEdg A & AR SiENfe famm W F e @ e o 39 fae d
-0 T BT T G ? HE & I

During the second Five Year Plan there was a controversy between Industrial
development and Agricultural development. What arguments were given in this
controversy ? Write any two arguments.

TG SN & oA &9 ol ¢ Ju¥ I TR B e ? 2

When was the Election Commission formed ? Who became the first Election
Commissioner ?
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26. 9Rd A I & 9 fhel & foart & W Hfvw

Explain any two disputes between India and China.

27. IS GO0 & H5 & fog Sl

Mention any two points of the Punjab Agreement.
28. T & Gl ER B AT Bl WL Hi
Explain China's 'Open Door Policy'.

YqT
OR

AN d9 % ©OT F9 AR g aFg ar g ?
When and by which treaty was the European Union Established ?

Gug - T
SECTION - C

[ TS 999 ]

[ Short Answer Type Questions ]

29. 1960 % a31% &l GaAlH aslh i Hel Sl & 7

Why is the 1960s called the dangerous decade ?

30. TR Aol F & ? AN F §7 LT FaEy

What is the ASEAN system ? State two objectives of ASEAN.

2216/(Set : C)
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31.

32.

33.

34.

(12) 2216/(Set : C)
fasg @ amEh faeg | oMy @ g9sa € ? 39 e 4 &l 8 ¢ 3

What do you understand by the world's common heritage ? How is it exploited ?

3TeE

OR
TR RE % Rl i Sl @ e i
Explain any three measures for environmental protection.

A9 & WIEHiad T FHl AR BT 3

Explain the cultural aspect of globalization.

1975 H AR i QIO Hd §Y TXHR o 36 F1 BRI qae & ? 3

What reasons did the government give while declaring Emergency in 1975 ?

YqT
OR

1977 & IAE & o1& Tedll I &5 H [uell & &l TRhE a1 & s @7 B e

Write any three reasons for the formation of the opposition party government at
the Centre for the first time after the 1977 elections.

BalE B GH HA & el d7 Gl B At iy 3

Describe any three suggestions to end Regionalism.
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35.

36.

37.

(13) 2216/(Set : C)

G 3 o i s # ahE B

Review the North-East region in limited words.

ARG VT Faee § o bR & 39 & (el 7 BN & o i) 3

Describe any three reasons for the emergence of coalition government in Indian

political system.

f&-gdtg e & qHiG % Y SOEEl &R iy 3

Write the factors responsible for the end of bipolar system.

qug —-g
SECTION - D

[ Feraee U9 ]

[ Essay Type Questions ]

IRA & ARG d ©9 F GO URWg § R H W GO & U & gEd o a4
A ? A TEE H AT s B 5

As a citizen of India, how would you support India's case for permanent

membership in the Security Council ? Justify your proposal.
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AYqr
OR

g T B R @ R @ o div

Describe the objectives and principles of the United Nations.

AYqT
OR

T STEIRT F97 -

Competency Based Question :

fr=feiea foet &1 TEe T8 deft o e o7 ae fafeg

Look at the following picture and write five sentences related to it according to

your thinking :

W e a0 QU F FRE (1 5, 2018 %)

Use of 'Veto-Power' by permanent members (Till 1 June, 2018)

g9 11
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38. I B FHHAS AT THRIES T&l P S D) 5

Mention the positive and negative aspects of globalization.

YqT
OR

AT PN TRAM P 8T 6% 35 & & HROI W T STag|

Define globalization and highlight the main reasons for its rise.

39. WAA R & AEA M &I FAdl P U i 5

Describe the main challenges faced by Independent India.

YqT
OR

FEl A 5 U @ Auw A H Had @R g @ ol d9u fawr shie,
T HTHET AR Aol 8 Th G # 947 Bl o1 S [RIvarel &l qgae Hie 5
HER T AT Th T 2

It is said that a nation is a broadly conceived community bound together by a
common belief, history, political aspirations and imagination. Identify the

characteristics on the basis of which India is a nation.

40. T-FRUY H FY IAd U 36! ARV H AU Hifor 5

Explain the meaning of non-alignment and describe its characteristics.
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37T
OR
Fretfeied @ dfera feaell i
(i) ARG B WA A 2%
(i) dasfa & 2%

Write brief comment on the following :
(i) India's Nuclear Policy

(ii) Principles of Panchsheel
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o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH Y o 8 A T
ford oife dmlouss o7t & IR GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U g7 % FUT 37 @ g7 9€ Ghaa FT d B FeT-0 {7 7 @@ & Yher 3 U 54
TG § g 4 qar w&hHe T8 B aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
() @4 g7 Sard &
(i) @ g F ofF FTH @ET T T &

(iii) FoT7H B WX GOE] - F G T GG § T [Fr7 B T &1 i 3 40 797 8

(iv) &€ -%F 7 g97 G697 1 & 20 % G J97 &1 J9% 797 1 31% % &1

V) G% - 7757 GE 21 G 28 T SARE [HT & T ST FTTHF FoT [T TT &
9% F7 2. i I 81 JA% 97 F I & 1 & aEl 7 oy 38 I A wne

(vi) T - T 7 g97 G& 29 @ 36 % SARF [AHY B G TLANHE F97 [T TT &1

J% J97 3 SJE FT &1 JE% 97T F FAT FTHT 80 § 100 =] F G TR
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General Instructions :

(i) All questions are compulsory.
(i) Marks of all questions are shown against them.

(ii)) Question paper comprises four sections A, B, C & D. There are 40 questions
in the question paper.

(iv) Section — A consists of Question Nos. 1 to 20 are objective type questions.
Each question is of 1 mark.

(v) Section - B consists of Question Nos. 21 to 28 are very short answer type
questions with internal choice. Each question is of 2 marks. The answer of
these questions should be in one or two sentences or in few words.

(vi)) Section - C consists of Question Nos. 29 to 36 are short answer type
questions with internal choice. Each question is of 3 marks. The answer to
each question should be in about 80 to 100 words.

(vii) Section — D consists of Question Nos. 37 to 40 are essay type questions. All
questions are given with internal choice. Each question is of 5 marks. The
answer to each question should be in about 150 to 180 words.

qug -3
SECTION - A

[ TS 9 ]

[ Objective Type Questions ]

1. fe dauiive dsnee &1 ‘qg |iaa %el T e ¢ 1
(A) 38ar Hae (B) 40al Gl
(C) 42daf dame (D) 44af dMes

Which Constitutional Amendment has been called the 'Mini Constitution' ?
(A) 38th Amendment (B) 40th Amendment
(C) 42nd Amendment (D) 44th Amendment
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2. S MY MR T SIffem, 2019 ERT ST 370 % T febar T ? 1
(A) 59T, 2019 (B) 15 37Ed, 2019
(C) 18 37&, 2019 (D) 25 J7E, 2019
When was Article 370 abolished by the Jammu and Kashmir Reorganization Act,
20197
(A) 5 August, 2019 (B) 15 August, 2019
(C) 18 August, 2019 (D) 25 August, 2019

3. Tl MR & Agd F A 1984 & WHAA AWIAE H HIY U A el drepae €

St ? ’
(A) 409 (B) 411
(C) 415 (D) 418

How many Lok Sabha seats did the Congress Party win in the 1984 General Lok

Sabha election fought under the leadership of Rajiv Gandhi ?

(A) 409 B) 411
(C) 415 (D) 418

4. fige @ed | 93 Hider I« & 8, 1991 H L T B B T 1
Srilankan Tamils belonging to the LTTE Organization killed ............. in May
1991.
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5. 1991 ¥ % 3& &I i % 39 &R AR T ? 1
(a) =N (B) STuM
(C) aRer ifka (D) 9Rd

Which country adopted the Look East Policy in 1991 ?

(A) China (B) Japan
(C) South Korea (D) India
6. T & &, Ahas quddl IR Aelaiedl & s Preoia g g 3a § gor ? 1
(A) (B) Sur
(C) M (D) divlEa

In which country did the triangular conflict take place between the king's army,
democracy supporters and Maoists ?

(A) SriLanka (B) Nepal
(C) Bhutan (D) Bangladesh
7. & H AT Fo W R B 7 1
(A) % R (B) FHrE,
(C) & (D) Frwn
Where is the headquarters of SAARC located ?
(A) New Delhi (B) Kathmandu
(C) Karachi (D) Colombo
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8. HId ¥ R MU Faf [Iehey & A Wl &M R ]
RIERCINERIINECC L) T fereREmT WX e o CEECIVACICIY

Fill in the blanks using the correct option given in the bracket :

Soviet political system was based on ............... ideology. (Socialism/Capitalism)
9. YR GU& UX SAGRdial 89l He [dl = 7 1
When was the terrorist attack carried out on the Indian Parliament ?
10. F09 36 U9 = Tfieq ¢ o ot 4 J&s 9 GHRE Ht 7 1
(A) 1962 H (B) 1971 #
(C) 1972 ¥ (D) 1982 ¥
When did the Club of Rome publish a book titled 'Limits to Growth' ?
(A) In 1962 B) In 1971
(C) In 1972 (D) In 1982
11. §gF U 69 B @O s ST & &9 | g 7 1
(A) T Sff® SS9 (B) T4 &
(C) W &g (D) T® 9 HE 7@l
The United Nations was established as the successer of :
(A) League of Nations (B) European Union
(C) Soviet Union (D) None of these
12. GYF T 99 & aa9 qerdEd & TW [ 1

Write the name of current Secretary General of the United Nations.
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13. 7 & | SF-81/8 1 % IRIRE 91T & T 8/8 7 1
(A) ST (B) ufF dgH
(C) TSHET S (D) IYAHT Gl

Which of the following is/are the elements of the traditional concept of security ?

(A) Opposition (B) Balance of power
(C) Forming alliance (D) All of the above
14. % N A ..o ] FRRE e 1

The Shock Therapy model was guided by ............... .

15. ‘qrgay ¥ FR-UdiRh 9§’ 99 § S S drei Aoer e o ? 1
(A) AR AW EE (B) TGN ded 913 U
(C) e et (D) GAN == 99

Who gave the speech known as '"Tryst With Destiny' ?

(A) Jawaharlal Nehru (B) Sardar Vallabh Bhai Patel
(C) Mahatma Gandhi (D) Subhash Chandra Bose

16. WHHA & T FH A § 16 €T Saht ga @M W HiF-H T W@ ? 1
Which party stood second by winning 16 seats in the first general election of Lok
Sabha ?

17. ‘99 QW & g § 9§ @ $-91 999 T8 787 © 1

(A) FE ARG & IARF AT & Th 1-H o
(B) TEH TEFT W U & @i & aweds b mm am
(C) TS T HB AU IGFMCEl < &l &l
(D) Z89 FEeH & R & QiR a@wee B @ e
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Which one of the following statements about the 'Bombay Plan' is not correct ?
(A) It was a blue-print for India's economic future.

(B) It supported state ownership of industries.

(C) It was created by some leading industrialists.

(D) The idea of planning was strongly supported in it.

18. F=iiciiad el § @ &8 U /HI B fdehed T 1
1. 1974 F ToRE SR R si@e ga
2. FYOY shife] BT HATEAN STEGHIA TREOT < fohM|
3. ANCEH H HWOT 1972 F H T
4. TOS BIRN H AR 1971 F W W 7 f=m

& -
(A) @A 1 AR 2 (B) @ad 2 AR 4
(C) ®ad 1, 3 R 4 (D) a9 1,2 3lX 4

Choose the correct statement(s) from the following statements :
1. Gujarat and Bihar Movement took place in 1974.

2. Jayaprakash Narayan called for a total revolution.

3. Emergency was declared in 1972.

4. The slogan of Garibi Hatao was given by Indira Gandhi in 1971.

Options :
(A) 1 and 2 only (B) 2 and 4 only
(C) 1,3 and 4 only (D) 1, 2 and 4 only
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19. 1956 H g@U doadig M1 fhed g oo™l IR GBI @ el &R AR b

7 1
(A) THo THo TWMHMIEN (B) Wo Hio HEE™ISH
(C) Sio Hio FARW (D) AEY AW 8%

In 1956 the Second Five Year Plan was prepared by a team of economist and

planners under whose leadership ?

(A) M. S. Swaminathan (B) P. C. Mahalanobis
(C) J.C. Kumarappa (D) Jawaharlal Nehru
20. 1971 & TQ AHAA @I & T ARG & TEFHA B a9 7 1
(A) AR 3EE (B) TFEQEX
(C) g et (D) = fie

Who became the Prime Minister of India after the Lok Sabha election held in

1971 ?

(A) Morar Ji Desai (B) Chandrashekhar
(C) Indira Gandhi (D) Charan Singh

qug - g
SECTION - B
[ SAferRTg SRS T ]
[ Very Short Answer Type Questions ]
21. U6 GO0 & H5 & f&g SaBEUl 2

Mention any two points of the Punjab Agreement.
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22. I B G ER B AT B WL Hio 2
Explain China's 'Open Door Policy'.

3TeE
OR

UG |9 @O F9 SR g |t & g v

When and by which treaty was the European Union Established ?

23. BH (T) § STUEH FT A B 7 2
What do you mean by SAARC ?

YqT
OR

ARG SR TR & A AAHE B HE & 50 A

Write any two issues of differences between India and Bangladesh.

24. TRAT IR ST & 9 @A 9T B A G B & JeA At @ oFf ? 2

What were the two main security challenges facing the newly independent

countries of Asia and Africa ?

25. Jedl gad WX dfer feael fafg 2

Write a short note on Earth Summit.

26. YT sTedleraen § T F1 993 & ? 2

What do you understand by mixed economy ?
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YT

OR
TgH UeEdi ASHT B 8 H B, 36H R SN W ged el S)oor ?

When was the first Five Year Plan started and what was given the most

emphasis in it ?

YqT
OR

T STEIRT F97 -

Competency Based Question :

A dEEdg A & AR SR faem W FY e @ e 9 o 39 fae
- T [T T Y ? HE § T

During the second Five Year Plan there was a controversy between Industrial
development and Agricultural development. What arguments were given in this

controversy ? Write any two arguments.

TG SN & oA 9 gl ¢ J&¥ I STHRT B e ? 2

When was the Election Commission formed ? Who became the first Election

Commissioner ?

qRg X 99 & 79 fhel ¢ foarl & T S 2

Explain any two disputes between India and China.
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gug -7
SECTION - C

[ TS 49 ]

[ Short Answer Type Questions ]

29. G el T FEe Bl AHL 1969 H T R RHR g8 7 3
Due to which issues did the Congress Party split in 1969 ?

30. I ToHis o § Tedad GihR & 3ad & [heal a7 HIO & Joi ST 3

Describe any three reasons for the emergence of coalition government in Indian
political system.

31. f&-gdIg ae & GHIG & Y SAEEl &R iy 3

Write the factors responsible for the end of bipolar system.

32. A Aol M & ? AN & §7 LT FaEy 3

What is the ASEAN system ? State two objectives of ASEAN.

33. faeq % Al fovmd @ T o1 Twe § ? 9E ed &9 ear § 7 3

What do you understand by the world's common heritage ? How is it exploited ?

3TeE
OR

TR G $ fheel df7 SUEl B T HifTT

Explain any three measures for environmental protection.
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34. BT  AIEHaD T H AT BT 3

Explain the cultural aspect of globalization.

35. 1975 AU &l €Y HQ gL THN 3 36 41 HROT a0 & ? 3
What reasons did the government give while declaring Emergency in 1975 ?

3TeE
OR

1977 % Al % §1& el OR &= § fGuell & Bl GRHR a9 & B3 @7 RO [y

Write any three reasons for the formation of the opposition party government at

the Centre for the first time after the 1977 elections.

36. @A H GHC B & bl @7 GaAEl B a9 Hiorg 3

Describe any three suggestions to end Regionalism.

STeE

OR

g & 1 Gt i 3w S

Review the North-East region in limited words.
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qug -9
SECTION - D
[ e 59 ]
[ Essay Type Questions ]
37. Ye-FRUS & 7Y aId &Y 6! RRIvared & avi iy 5

Explain the meaning of non-alignment and describe its characteristics.

SLE|

OR
=i o i femelt it
(i) R @ qeA) A 2%
(i) d=sha & Rraa 2%

38.

Write brief comment on the following :
(i) India's Nuclear Policy

(ii) Principles of Panchsheel

IRA & ARG » @9 F GO URWg § IR H W GO & 0 & gEd o a4
A ? AW A H AT s # 5

As a citizen of India, how would you support India's case for permanent

membership in the Security Council ? Justify your proposal.
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AYqr
OR

g T B R @ R @ o div

Describe the objectives and principles of the United Nations.

AYqT
OR

T STEIRT F97 -

Competency Based Question :

fr=feiea foet &1 TEe T8 deft o e o7 ae fafeg

Look at the following picture and write five sentences related to it according to

your thinking :

W a5 a0 G-I F FRE (1 S, 2018 )

Use of 'Veto-Power' by permanent members (Till 1 June, 2018)
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39. ITAH F FHHAS AR THRIED T&l B S Do) 5

Mention the positive and negative aspects of globalization.

YqT
OR

AFEHTT I AR Fd gY 36 984 & & FRON T FH STy

Define globalization and highlight the main reasons for its rise.

40. W@AA IRA & AEA MR & FAdl B U i 5

Describe the main challenges faced by Independent India.

3TeE
OR

Fel A 2 [ T T AGH Fd A Fleqd R BT © SR gaHr s sfer,
TS SAHET AR FaArell § TF g & 47 81 &1 39 fAQvarell & weEn S e
MR W 9RG TH T 2l

It is said that a nation is a broadly conceived community bound together by a
common belief, history, political aspirations and imagination. Identify the

characteristics on the basis of which India is a nation.
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